
Паралллелограмм и 
его свойства

Тест



Проверим решение:

А

В С

D

Р М

700

1100

∠В=180-70=110o

∠ВАD=∠C=70o

∠DAP=110-70=40
o

∠P=180-40=1400



Р=48  АВ=12  ВС=?

А

В С

D
ВС=(48-2*12)/2 =12



1. AC=10  OC=?

А

В С

D

0



2. AB=7    BC= 13   Р=?

А

В С

D



3. ∠В- ?

А

В С

D45



4. ∠С-?

А

В С

D
57



5. ∠В+ ∠С- ?

А

В С

D

69



7.  ∠А+ ∠С= ? 

А

В С

D
35



8. ∠А+ ∠С= ? 

А

В С

D

40



9. PABD=24   PACD=?

А

В С

D



10. ∠A=?

А

В С

D230

170



11. ∠B=?

А

В С

D230

170



12. BD=28 BO=?

А

В С

D230

170
o


